(@)

(Z)

@ -1.52

® 0 @—472

®



=

% frel47t obd 2 DY

oo

@ 3.141592 @nr ® 9.999999

111 21
® — ® 7




ol

o
oR

ol
Nfo

op

@ -ax(-a)?x(-a?) =a®

@ xy? x (=x%y)?

@ —x10 = (=x%) x (=x3) = =x°

y2)3
=) =

% (



Q
2a?
@ X
5a3
© (2x2)3 o
x2 .
6
X x° = ;
- 410
_1
]

® x°
=53
sx=
=0

@
(_
2xy)?
= 4x?
y=4
2y?

@
Q
A®)
@
Q
,©
©)
Q@
@
©
NG
®
@
NG



2x + x—3
y+ y

1 3 =ax+by€ W, A5 a, b Fa+ b FH2?
1 1 1 1 5
O @5 ® 3 @ 3 ® x5



—_
[ife]

2x+y

e
I
x
P~ | ©
©
=N
5,41,V/.6
+ I
= =
— o <t
Q@ ©

@ 2x+ 15y
@ x+4y



7.

(3x2 = 9xy) + 3x — (Sxy — 4y?) = (=2y) = 7HH3]

O -5x-y @ 3x-y ©)
@ —3x -5y ® 5x -5y



x+2y—2+3x—4y_2x—5y—3

8. 5 2 T = Ax+By+C &1 & 1), A+B+C
o] 327

® 20 @g -1 @0 61



9. a>04 ", —ax>3a 9 =7

D x<-1 @ x<-2 ® x<-3
@ x>3 ® x>-3



10.

a<-1¥ M, a(x-1)-3<-x-29 =2

@ x>-1
@ x>1



11.

@ 207

T3 JFEE 5000 A1l 25 I o) dAA = 20% &

oo ghe} 25 W w|9ho] thA v} 25 W O] oA AR E
Aol B §e% AL B 9% A947 2 9 olyd

® 219 ® 29 @ 239 ® 249



12.

= Fgel A g3t Bl

°ril 9

IL

1
e o] 21871

ol =71 200 Yeld, 5
A2 &elste] 20% &elsto] Fobal gy, 2 1 o]

[e]

D 4119 @ 427 ® 459 @ 48 ¥

03 °l
A

gold 24

® 50

&

g

o]

bl
2



13. o= WA FoA vA7E 270 LA A 27

O xy=1 @ x+y=0
® x=y+x* @ x+1=0

® y-2x=6-2x



14. o= B FoA vx71 2 0] LATAAES BF al=w?

@ x+y=0
© x(x+1)+y=x"+y
© x=y

® x(2+3y)-3xy=0

@ x(x+1)+yy+1)=0

60,60 206 006 ®oe 066



15.

sAa= shetl 22 dis o Abe] 2km, WES e 22 42
St AJZEell 3km 9] £z Aol WA A= AlZkE 3417 ojli =

st 1 gl 2 km7k] 21 Y oW =T

® 1km @ 2km ® 3.6km
@ 5km ® 6km



16.

oA 7127k e U7 1A7E0] o7} Sk, HEL AP
sfo] o3t A AfolE A% akm 2 Bl T A 278 AT
15%0] FRAtkd oA F lan o[ h 9] FHL 0] §F 4 Y2

o2 T MR

O 1km ©]Hj @ 2km ©]Uj ® 3km ©H
@ 1.5km ©|Y ® 2.5km ©|W



